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Arithmetic of Exponents (Negative Exponents)

(−2) − 5 =(−2) (−10) − 8 =(−2)

(−8) + (−10) =0 (−8) − (−6) =

3 + 4 =(−1) (−10) + (−2) =2

8 + (−5) =(−2) (−6) − 1 =(−2)

(−5) − 3 = 3 + (−2) =0

10 − (−2) =2 1 + (−10) =0

8 − 6 =2 3 + 1 =(−1)

(−8) − 1 = (−6) + 6 =(−2)

(−6) − 6 =(−2) 2 − (−3) =2

1 − 2 =(−2) 3 + 9 =(−1)

www.snowmath.com

https://www.snowmath.com
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Arithmetic of Exponents (Negative Exponents)

(−2) − 5 = (− ) = (−4 )(−2)

4
19

4
3

(−10) − 8 = (− ) = (−7 )(−2)

100
799

100
99

(−8) + (−10) = (−9)0 (−8) − (−6) = (−2)

3 + 4 = = 4(−1)

3
13

3
1

(−10) + (−2) = 982

8 + (−5) = (− ) = (−4 )(−2)

64
319

64
63

(−6) − 1 = (− )(−2)

36
35

(−5) − 3 = (−8) 3 + (−2) = (−1)0

10 − (−2) = 1022 1 + (−10) = (−9)0

8 − 6 = 582 3 + 1 = = 1(−1)

3
4

3
1

(−8) − 1 = (−9) (−6) + 6 = = 6(−2)

36
217

36
1

(−6) − 6 = (− ) = (−5 )(−2)

36
215

36
35

2 − (−3) = 72

1 − 2 = (−1)(−2) 3 + 9 = = 9(−1)

3
28

3
1
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